
x 1

Base Post 

x 1

Mounting Plate

x 1

Thank you for purchasing this RELIABILT product. We’ve created these easy-to-follow instructions to ensure you spend your time enjoying the product 
instead of putting it together. But, if you need more information than what is provided here, please visit Lowes.com, search the item number and refer to the 
Guides & Documents tab on the product’s page.

Gracias por comprar este producto de RELIABILT . Hemos creado estas instrucciones fáciles de seguir para garantizar que pase su tiempo disfrutando 
el producto en lugar de armándolo. No obstante, si necesita más información que la entregada aquí, visite Lowes.com, busque el número de artículo y
consulte la pestaña Guides & Documents (Guías y documentos) en la página del producto.

MODEL/MODELO #07-2973
 ITEM/ARTÍCULO #5510921

             ALUMINUM IN-GROUND 
                           MAILBOX POST
            

RELIABILT and logo design are trademarks     
 or registered trademarks of LF, LLC.

All rights reserved. 

RELIABILT y el diseño del logotipo son marcas 
comerciales o marcas registradas de LF, LLC. .
Todos los derechos reservados.

                POSTE DE BUZÓN DE 
                         ALUMINIO PARA 
              CLAVAR EN EL SUELO

AS23592

PREPARATION/PREPARACIÓN

If any part is missing or damaged, do not attempt to assemble the product.
Before beginning assembly of product, make sure all parts are present. Compare parts with package contents list and hardware contents list. 

Antes de comenzar a ensamblar el producto, asegúrese de tener todas las piezas. Compare las piezas con la lista del contenido del paquete y la lista del 
contenido de aditamentos. No intente ensamblar el producto si falta alguna pieza o si estas están dañadas.

TOOLS REQUIRED (NOT INCLUDED)/ HERRAMIENTAS NECESARIAS (no se incluyen):

Estimated Assembly Time: 20-30 minutes.
Tiempo estimado de ensamblaje: 20-30 minutos.

 VietnamMade in 
Hecho en Vietnam

PACKAGE CONTENTS/CONTENIDO DEL PAQUETE

AA B C

Phillips Screwdriver WrenchLevel
Destorillador PhillipsNivel Llave inglesa

BasePoste  Placa de montaje



(x4)

 # 10-24 x1- 3/4” 
Screws / Tornillos

BB DD

(x10)

# 10-24 Hex Nuts/
Tuerca hexagonals

(x10)

# 10 Flat Washer/
Arandela

1

Open the mounting plate and fasten it with hooks.
Attach mounting plate with 2pcs M4 x 5mm screws.
Abra la placa de montaje y fíjela con ganchos.
Fije la placa de montaje con 2 tornillos M4 x 5 mm.

INSTALLATION OVERVIEW/DESCRIPCIÓN GENERAL DE LA INSTALACIÓN

(x10)

 # 10-24 x 3/4” 
Screws / Tornillos

CC EE

(x4)

Plastic Spacers/
Adaptadors

Dig a hole 11” deep and 9” in diameter. Fill with one bag mixture of 
concrete (follow manufacturer’s instructions for mixing). Install the 
post into the ground. Pay particular attention to the location, height, 
and distance. Level and allow to cure following the manufacturer’s 
instructions. 
Cave un hoyo de 27.94 cm de profundidad y 22.86 cm de diámetro.
Llene con una bolsa de mezcla de concreto (siga las instrucciones 
del fabricante para mezclar). Instale el post en el suelo. Preste 
especial atención a la ubicación, la altura y la distancia. Nivele y 
deje curar según las instrucciones del fabricante.

 

When the concrete has cured, slide the base over the post and 
proceed to install the mounting plate.
Cuando el concreto se haya curado, deslice la base sobre el 
poste y proceda a instalar la placa de montaje.

Attach mounting plate to post with 4pcs ( #10-24x3/4”) screws, 
4pcs（#10-24 ）hex nuts and 4 pcs ( #10) washers.
NO lo instale en el suelo hasta que ambos postes estén 
conectados de forma segura como se indica en el Paso 1.

Q
U

IC
K

 R
EF

ER
EN

C
E 

G
U

ID
E/

G
UÍ

A 
DE

 R
EF

ER
EN

CI
A 

RÁ
PI

DA
PACKAGE CONTENTS/CONTENIDO DEL PAQUETE

AA BB CC DD EE

1 2

3 4

A

A

C

A

B

B




